	Mostly Multiplication Test – Grade 4
Name: ________________________

Remember your strategies!

Multipladdition (repetitive addition)

Expandiplication strategy

Double Trouble strategy

Round-da-nation strategy

Magic Squares (open array) strategy 

Traditional strategy (long and short)

Napier’s Bones

Knowledge (demonstrate understanding of concept of multiplication )
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Answer the following questions using any math strategy.
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Try using the traditional strategy (long or short) to answer the following questions (However, if you would prefer using a different strategy, you may):
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       Knowledge      /8    level ______
Thinking/Communication 
(Thinking – demonstrate critical thinking through explanation)

 



(Communication – convey meaning clearly using math vocabulary) 
1.  Use two different strategies to answer the following question:  

32 X 7 =

strategy one:





strategy two: 





          




   Thinking level ____         

2.  Explain how the two strategies are similar and how they are different.
	

	

	

	

	

	

	

	

	

	






          Thinking level ____         Communication level ___

3. Amanda is paying for 27 tickets that cost $5 each.  She knows that she needs to multiply 27 X 5, so she thought; first she must multiply the ones, and then the tens.  She did this:
      27

           x 5 

           35  (first I multiply the ones, which is 7 x 5 = 35)

           10  ( then I multiply the tens, which is 2 x 5 = 10)

           45


She decided she needs to pay $45. Is she correct?  Explain why or why not.

	

	

	

	

	

	

	

	

	

	






            Thinking level ____         Communication level ___




     Overall:  Thinking level ____         Communication level ___

Application / Communication 
(Application – apply knowledge to context/problems)     





(Communication – convey meaning clearly using math vocabulary)
1. Mr. Wendler needs 270 pickles to feed his hungry class.  A store sells jars of pickles.  There are 35 pickles in a jar.  Mr. Wendler buys 8 jars.  Does he have enough?

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	






Application level _____           Communication level _____

2. An artist planned to use 44 cm of string to make a craft (a dream catcher).  How much string will he need to make 5 dream catchers?
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	






Application level _____           Communication level _____



     Overall:  Application level _____           Communication level _____

Now try these, just for fun, or for bonus marks:

In a yard there were a number of horses and people.  Judd counted 10 of them (horses and people), but he won’t tell you how many were horses, and how many were people.  He does tell you he counted 34 legs altogether.  How many horses were there, and how many people?
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Mr. Wendler had a bug collection.  He had 1 691 bugs in each bug basket he owned.  He had 312 bug baskets at home.  He was going to put them all together to bake a special cake for the class.  How many bugs were in the “special cake” he made?
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